MATH 2 EXAM #5 NAME: Koy

sin a_ sin ﬂ

b

Prove that in any triangle

Find the remaining parts of the following triangles with given information:
a a=2c=1y=25 b. a=3,b6=5¢=17

Sketch the graph of each of the following equations. In each case list the coordinates of all the
special points ( F, F,,V,,V,,M,,M,,C), equation of the directrix, equations of asymptotes as
relevant to each graph.

a. y'-4y-2x=0 b. y*-4x*-16x-2y-19=0

c. 9(::—1)2 +4(y+27.)2 =36

Find the equation of set of all points in the plane whose sum of distances from points (1,2) and
(1,—4) are always 10.

State the geometric definition of:

a. parabola b. hyperbola

Use matrices and row operations to solve the following system of equations.
x-y=6
2x-3z=16
2y+z=4

A student was solving a system of equations using matrices. What is the solution to the system if
the final result of her operation was the following matrix. If there was no solutions, say so,
otherwise write the solution in the proper form.

1 0 2 1 1 0 2 1
a. (01 -1 3 b. |01 -1 3
00 0 O 00 0 -1

(EXTRA CREDIT) Use the geometric deﬁmtlon of a parabola to show that the general equation of
a parabola with a horizonta! directrix is (x—#)" =2p(y- k)
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